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‘“In our obscurity there is no hint that help will come from elsewhere to 
save us from ourselves.”’ (paragraph 6) 

1p 34 How does the writer appear to rate this remark? 
A as quite gloomy 
B as rather romantic 
C as remarkably optimistic 
D as somewhat obsolete 
E as wholly accurate 
 
 

Tekst 9  Mosquitoes increase disease risk in USA 
 

1p 35 How does paragraph 2 relate to paragraph 1? 
Paragraph 2 
A criticises recent solutions for the problem introduced in paragraph 1. 
B gives reassurances for the problem introduced in paragraph 1. 
C lists the main causes of the problem introduced in paragraph 1. 
D mentions possible cures for the problem introduced in paragraph 1. 
 

2p 36 Geef van de volgende beweringen aan of deze overeenkomen met de 
inhoud van alinea’s 2 en 3. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 In de Verenigde Staten sterven jaarlijks duizenden mensen als gevolg 

van een geïnfecteerde muggenbeet. 
2 Het onderzoek naar tropische ziekten is afhankelijk van financiering 

door het bedrijfsleven. 
3 Om de opmars van door muggen verspreide aandoeningen te stoppen, 

wordt onder andere hun voortplanting onderzocht. 
4 Het broeikaseffect belemmert de voortplanting van muggen. 
 

1p 37 Which of the following fits the gap in paragraph 4? 
A After all 
B As a result 
C In addition 
D In spite of this 
 
 

Tekst 10  Letters: social media? 
 

1p 38 Which of the following reflects the point Donna Housman makes in her 
letter? 
A Social media allow us to get into contact with people worldwide. 
B Social media are changing the way future societies will function. 
C Social media cause people to neglect and ignore their neighbours. 
D Social media prevent children from learning essential social skills. 
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1p 39 What is the main point made in the letter written by Richard Boyce? 
A Exchanging information was considerably more complicated in the 

past. 
B Having more sophisticated equipment results in people having less 

contact. 
C Using longer and more difficult words means fewer people will 

understand you. 
 

1p 40 What is the purpose of Larry Schlack’s letter? 
A To contradict Sherry Turkle’s point of view. 
B To modify Sherry Turkle’s point of view. 
C To ridicule Sherry Turkle’s point of view. 
D To subscribe to Sherry Turkle’s point of view. 
 
 
Lees bij de volgende opgave eerst de vraag voordat je de bijbehorende 
tekst raadpleegt. 
 
 

Tekst 11  … drones and farming 
 
Vier van de onderstaande zes tussenkopjes (a tot en met f) zijn weggelaten 
uit de tekst (zie 41-1, 41-2, 41-3 en 41-4). 

2p 41 Geef bij elke plaats aan welk tussenkopje daar hoort. 
Noteer de letter van het tussenkopje achter elk nummer op het antwoordblad. 
Let op: er blijven twee tussenkopjes over. 
a How can they help farmers? 
b What are the drawbacks? 
c What are they? 
d What is in store for the future? 
e What will replace them eventually? 
f Why are they subject to strict regulation? 
 
 

einde  
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